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1.   One of the main problems in testing market efficiency is the joint-hypothesis problem.  What is the joint-hypothesis problem?

Must jointly test market efficiency and equilibrium model.

2.  What incentive problem is there in testing for market efficiency?

If find violation of market efficiency, there is an incentive to use (or sell) the information rather than publish it.

=> only those who find no violations of efficiency publish the results.

3.  How does the relative performance of growth stocks vs. value stocks appear to violate market efficiency?

Value stocks earn higher return with less risk.

4.  What did Kothari, Shanken, and Sloan find explained much of this difference between growth and value stocks?

Survivorship bias overstates the returns on value stocks

5.  What have studies found regarding whether professional investment managers are able to outperform the market by using superior analysis and/or information?

Best studies suggest professional managers do not outperform the market

6.  Assume markets are in fact efficient and respond to the following statement:  “Well...if markets are efficient, then I should simply use a dart board to chose my stocks.”

Ignores taxes and risk preferences

7.  What capital budgeting rule measures the impact on the value of the firm of undertaking a project?

Net present value

8.  What are three problems you may run in to if you use payback period as your capital budgeting rule?

3 of:  1)  ignores timing of cash flow within payback period, 2) ignores cash flow after payback period, 3) ignores risk differences between projects, 4) arbitrary criteria
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Use the following information to answer questions 9 and 10.  

Condo Calaresian Inc. is considering whether or not to turn one of the remaining downtown warehouses near Diamond Backs and Ninfa’s into luxery loft apartments.  Since the building looked as if it might be leased out before Condo could finish their analysis of the apartments, Condo went ahead and signed a 15-year lease on the warehouse for $150,000 per year.  (The first lease payment is actually due later today and are payable on April 9th of each year).  Condo estimates that each of the 10 apartments will cost $24,000 to build and will rent out for $850 per month.  Maintenance costs will be $390 per month and the cost of a building manager will be $2,000 per month salary and benefits (including the rent on one of the apartments).  Condo’s marginal tax rate is 35%.

9.  How does the lease agreement impact the incremental after-tax cash flows for this project for Condo one year from today (April 9th, 1999)?

sunk

10.  How will the cost of the manager impact the incremental after-tax cash flows for this project for Condo one-year from today (April 9th, 1999)?  Assume rent is due on the 9th of each month and that salary and benefit payments are also made on the 9th of each month.  Assume also that the rental for the 9 apartments that will be rented out (excluding the manager’s apartment) have already been included in the analysis.

-747.50 = -(2000 – 850)(1 – .35)

